Mr. Gunstenson
Math 7

Geometry of Circles Puzzles

What Did the Waitress Mean
When She Yelled to the Cook:
“1 + 177

Fill in each blank with one of the answers at the bottom of the

page. Then write the letter of the exercise above its correct
answer.

The figure at the right is a circle with center at ©. D

® The points on a circle are all the same distance from the

@ A line segment from the center to any point on the circle is a

@ A line segment with both endpoints on the circle is a

@ A chord that passes through the center of a circleis a

@ A diameter of the circle in the drawing above is the segment

® Which of the following is not a radius: OA, OD, or BC?

® Which of the following is not a chord: BC, OA, or AC?

® Part of a circle, such as between points Sand C, is an

® An angle whose vertex is at the center of a circle is a

® Which of the following is not a central angle: LAOD, LCOD, or LBCA?
@ Points A, B, C,and Dare allthesame_____ from point O.
@ If the length of AC'is 20 cm, then the length of OCis

@ If the length of OA is 20 cm, then the length of OD is

@ If the length of OD is 20 ¢m, then the length of AC is

@ The lengthof aradiusis____ the length of a diameter.

® The set of points in a plane at a fixed distance from a given point is a
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ZC0OD
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40 cm
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Why Did the Piano Player Bang Her

Head Against the Keyboard?

Find the circumference (C)of each circle, given the diameter (d) or radius (r).Use
3.14 for r. Draw a straight line connecting the square by the exercise to the square
by its answer. The line will cross a number and a letter. White the letter in the
matching numbered box at the bottom of the page.

(6) d=15in. ¢
(7) d=600m &
(8) d=23in. +
(9) d=10cm ¢
r=1in.

©

+ +

* ¢ ¢ 4+ 4+ & ¢ 4+ & ¢ o+ + T * o+ o

C=12561n.
C=31.4cm
C=92in.
C=942 am
C=7222In
C=30144In.
C=25121In
C=1571In.
C=28.888 cm
C=13.816 cm
C=15.7cm
C=21.98cm
C=6.281in.
C=314m
C=4.711In.
C=3768 cm
C=24492 cm

C=1,.884m
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What Do You Call It When a Bunch
of Kids Throw Circles at Each Other?

THTOGAPEROWLIFNBIGOSTHUPATE

47.1 in.

2.2 1t

1909 m

38.6 m

288.4 yd

225 ft

52.9 cm

16.3 in.

219.8 yd

188.4 ft

1570 m

1.7 ft

Cross out the letter next to each correct answer.
Most answers are rounded. Use 3.14 for .

Use the diameter (d) or radius (r) to find the circumference.

1.I 2. 3.I 4.I

5.

d=15 in. 6. d=70yd

7. r=250m

8. r=3.81t

Find the perimeter. All curves shown are semicircles.

9.

r"
3
¢

Solve.

12. A dartboard has a circumference
of 78.5 in. What is the diameter?

14. A pizza has a circumference of

16.

18.

47.1 in. What is the radius?

The first Ferris wheel, designed
by George Ferris, was built in
1893 in Paris, France. It had
a diameter of 76 m. About how
far would you travel in 8 turns
of this wheel?

A can contains 3 tennis
balls, tightly packed.
Each ball has a
diameter of 2.5 in.
How much greater

is the circumference

of the can than the
height of the can?

NSy

~

4 A

)
x

A

t

15.

17.

19.

; ; 10. 11.
| |
| |
60yd | /—\ 75 m
|
| 20 fr
92m

13.

A clock has a circumference of
166 cm. What is the diameter?

A tire has a circumference of
10.7 ft. What is the radius?

A 10-speed bicycle tire has a
diameter of 27 in. In highest
gear, the tire rotates 3.4 times
with each pedal turn. About how
far does the bike travel, in this
gear, with each pedal turn?

Two runners are to race one lap
on a circular track. The radius
to the inside lane is 50 m. The
radius to the
outside lane

is 51 m. How
much of a head
start should
the runner on
the outside get?




